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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
questions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
Language | language key grammatical
messages | knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60

Higher Question 1 / Foundation Question 4
10 marks for Content + 6 marks for Quality of Language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot

9-10 of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is
5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
3-4 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little information
is conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.
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A minimum number of bullet points must be covered for the award of marks for Content, as follows:

7-10 marks: 4 bullet points
5-6 marks: 3 bullet points
3-4 marks: 2 bullet points
1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be unintelligible,
in which case that bullet point will not have been covered, meaning that the maximum mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘| went to see my grandparents and then went to a theme park’, this can
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned.
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they
write ‘I bought some clothes and went to see a film’, this is also an acceptable fulfilment of the task, even
though ‘shopping centre’ is not mentioned.

The bands refer to the amount of information that is conveyed, as follows:

9-10: alot

7-8: quite a lot
5-6: some

3-4. little

1-2:  verylittle

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other
criteria are met. Conversely, a candidate may write much more than 90 words, but the language is so
inaccurate that little or very little information is conveyed successfully and the mark will be much lower. If
a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6:  one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’ etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that’. For example: ‘| think that my town is big’.
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Quality of language

Marks

Response

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

3-4

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of Language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of 0 for Content automatically results in a mark of O
for Quality of Language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

Each band has five strands: variety of vocabulary; complexity of structures and sentences;
reference to time frames; accuracy of the language; style and register. Sometimes it will be
necessary to adopt a ‘best fit' approach, because the five strands will not be consistently
demonstrated. Whether it is the top or bottom mark in the band will depend on whether the
criteria are nearer to those of the band above or below.

In order to score in the 5-6 band, there must be reference to all three time frames (past, present
and future). For the 3-4 band, there must be reference to at least two time frames. Reference to
a particular time frame may be demonstrated with one example. The verb used to refer to a
particular time frame need not be totally correct, provided the message is clear. These marks are
not awarded automatically and the other criteria in the band are equally important. Notice that
references are to time frames, not tenses. So, for example, the present tense usage in the
following sentence is a reference to a future time frame: ‘I'm going to the concert next week’.

When considering the complexity of the language, you should bear in mind that a) this is the
overlap question and is attempted by both Foundation and Higher candidates; b) that the criteria
for Quality of language in this question are not as demanding as the language criteria for Higher
Question 2. However, for a mark of 5 or 6, complex structures and sentences are attempted.
They may not always be successful and this may lead to serious errors because of the
complexity of the structure or sentence which the candidate attempts. Complexity may be shown
in some of the following ways: different tenses; intensifiers; time markers; connectives;
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subordinate clauses; infinitive constructions. This should not be seen as a ‘tick list’, but rather as
an indication of the definition of complexity at GCSE level.

e The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is
no need to penalise the candidate merely for that. It may, however, be a contributory factor in the
award of the overall mark if there are other weaknesses. There is no requirement for candidates
to present their piece of writing in a particular way because of the context, e.g. a blog or email
does not need to look like a blog or email. It is the content which is to be marked.

Higher Question 2
15 marks for Content + 12 marks for Range of Language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet points
must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of Language and for Accuracy, according to the following
criteria:

Content

Marks | Response

An excellent response which is fully relevant and detailed, conveying a lot of
13-15 | information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
10-12 | information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
4-6 sometimes clear but there may be instances where messages break down. An opinion
is expressed.

A basic response which conveys a limited amount of relevant information.
1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content. However, as the bullet points
are much more open-ended, there is scope for candidates to include information which is still relevant
but not in direct response to a bullet point. For example, when addressing a bullet point requiring a
response about a memorable holiday, candidates may refer to where they might go on a future holiday.
Any information which cannot be deemed at all relevant must be ignored when awarding the mark for
Content.
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As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.

In order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

A candidate who conveys information in relation to one bullet point only can score a maximum of
12 marks for Content.

Provided at least some coverage of both bullet points is evident, candidates will have access to
full marks where the other criteria are met.

The bands refer to the amount of information that is conveyed, as follows:

13-15: alot

10-12: alot

7-9: quite a lot

4-6: some

1-3: a limited amount

All of these have to be considered with reference to the recommended number of words, which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the
other criteria are met. Conversely, a candidate may write much more than 150 words, but the
language is so inaccurate that only a limited amount of information is conveyed successfully. If a
candidate writes considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

The candidate must give and justify opinions in order to have access to certain marks, as follows:

10-15: at least two opinions are expressed and justified
7-9: at least two opinions are expressed
4-6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there
is no opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘I like
going shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an
opinion or a justification of an opinion. A neutral or descriptive adjective is only classed as an
opinion or a justification if it is preceded by something like ‘I think that’. For example: ‘I think that
my town is big’ (opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like
my town because it is big’ (opinion + justification).

Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award the
higher of the three marks; if the band below was a consideration, then award the lower of the
three marks.
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Range

of language

Marks

Responses

10-12

Very good variety of appropriate vocabulary and structures. More complex sentences are
handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.

7-9

Good variety of appropriate vocabulary and structures. More complex sentences are
regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.

4-6

Some variety of appropriate vocabulary and structures. Longer sentences are attempted,
using appropriate linking words, often successfully. The style and register may not
always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and simple. Little
or no awareness of style and register.

The range of language produced does not meet the standard required for a mark at this
tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and

decide
results
Range
Range

on the mark for Range of language and for Accuracy. A mark of 0 for Content automatically

in a mark of O for Range of language but, apart from that, the Content mark does not limit the

of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
of language.

Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the
criteria for all five strands have been met comfortably. Sometimes it will be necessary to adopt a
‘best fit'’ approach, because the five strands will not be consistently demonstrated. Once the
correct band has been decided upon, the middle mark in the band will be given to a candidate
whose writing fits the band well. If the band above was a consideration, then award the higher of
the three marks; if the band below was a consideration, then award the lower of the three marks.

There must be more complex sentences for the candidate to score 7 marks or more. For a mark
in the 10-12 band, the complex sentences are produced confidently, with few errors in structure;
for a mark in the 7-9 band, the attempts at complex sentences are mostly successful. Complex
sentences may be formed in some of the following ways across the languages: use of
subordinate clauses; use of relative clauses; use of infinitive constructions; the use of object
pronouns within a sentence to lend greater fluency. This should not be seen as a ‘tick list’, but
rather as an indication of the definition of complexity at GCSE level.

The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is
no need to penalise the candidate merely for that. It may, however, be a contributory factor in the
award of the overall mark if there are other weaknesses.

There is no requirement for candidates to present their piece of writing in a particular way
because of the context, e.g. a blog or email does not need to look like a blog or email. It is the
content which is to be marked.
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Accuracy
Marks | Response
5 Accurate, although there may be a few errors especially in attempts at more complex
structures. Verbs and tense formations are secure.
4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.
3 Reasonably accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.
2 More accurate than inaccurate. The intended meaning is generally clear. Verb and tense
formations are sometimes correct.
1 There may be major errors and frequent minor ones, and the intended meaning is not
always clear. There is only limited success with verb and tense formations.
0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is
irrelevant to the bullet points.

A mark of 0 for Content automatically results in a mark of O for Accuracy but, apart from that, the
Content mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient
evidence for a very high mark for Accuracy.

o For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in
attempts at more complex language and the occasional minor error, but these will be infrequent.
A minor error is one which has no bearing on communication (for example, incorrect gender),
whereas a major error is one where communication is affected.

e For a piece of writing that contains a good number of errors, a useful starting point will be to
decide whether overall it is more accurate than inaccurate. If it is, then the minimum mark will be
2.

¢ A major consideration in awarding marks for accuracy is correctly formed verbs and correct tense
formations. All verbs and tense formations should be considered here but, as there are only two
bullet points in this question, only two time frames will be elicited. While some candidates will
develop their ideas and, in so doing, use a third time frame and different tenses, there is not the
same requirement as there is in Foundation Question 4/Higher Question 1 to refer to all three
time frames.

For both questions accept material which is fully or tangentially relevant.

Higher Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

10
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Conveying key messages

Marks | Response

6 All key messages are conveyed.

5 Nearly all key messages are conveyed.
4 Most key messages are conveyed.

3 Some key messages are conveyed.

2 Few key messages are conveyed.

1 Very few key messages are conveyed.

The content does not meet the standard

0 required for level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table:

Total ticks Mark

13 6

11/12

8/9/10

5/6/7

3/4

1/2

O N W |~ O

0

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response

6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 Very good knowledge of vocabulary and structures; highly accurate.

4 Good knowledge of vocabulary and structures; generally accurate.

3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 The language produced does not meet the standard required for Level 1 at this tier.

11
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Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

e This mark is not limited by the Conveying key messages mark, unless the mark for Conveying
key messages is 0, in which case the mark for Application of grammatical knowledge of language
and structures must also be 0.

e There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 7 ticks and you have
awarded a mark of 3 for Conveying key messages. You may have had to hesitate when deciding
on one of the ticks but just decided against it. This may then encourage you to give a mark of 4,
rather than 3, for Application of grammatical knowledge of language and structures.

e If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate
and award a mark accordingly. Not to do so will penalise unfairly those candidates who make an
attempt but commit serious errors in so doing.

o Perfection is not required for full marks. For example, occasional missing accents and minor
spelling errors do not preclude a top band mark. However, if there are numerous minor errors
and incorrect use of accents which change the meaning of a word, this is likely to have an impact
on the mark for Application of grammatical knowledge of language and structures.

12
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Appendix 1

Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of Language and Range of Language categories. They should not be seen as a
checkilist.

Variety of vocabulary

Consider particularly:

use of synonyms, eg Ich bevorzuge, ich...lieber and ich liebe, ich....gern rather than just ich mag

(Ich fahre gern/lieber mit dem Zug), herrlich, aufregend, groRRartig, wunderbar etc, rather than gut
etc.

use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous

repetition.

Variety of structures

Consider, for example:

use of infinitive constructions introduced by prepositions (zu, um...zu, ohne...zu, statt...zu),
adjectives (Es ist einfach... zu), nouns (Ich habe Lust... zu) and after verbs (Ich hoffe...zu, Ich
habe vor,...zu)

use of object pronouns

use of disjunctive pronouns (mit mir, fir mich etc)

use of indefinite pronouns such as jemand, man, etc

use of connectives such as so viel...wie..., nicht nur... sondern auch..., auf der einen Seite...
und auf der anderen Seite..., entweder... oder..., weder....noch....

use of adverbs and adverbial phrases such as trotzdem, jedoch, deshalb, deswegen, daher,
auRRerdem, abgesehen von, auch, letzte/nachste Woche, zum Beispiel (z.B.), das heilt (d.h.)
use of negatives (nicht, nichts, nie, niemand, kein(e) etc)

use of seit in constructions such as Ich wohne seit zehn Jahren in meinem Haus

use of comparative expressions (so... wie, mehr/weniger...als...)

use of demonstrative adjectives and pronouns (diese, jene, solche etc)

use of possessive pronouns (meiner, deiner etc)

use of das + adjective (das Gute, das Schlechte, das Wichtigste etc)

use of complex sentences and a range of tenses

Use of complex/longer sentences

Consider:

use of subordinate clauses introduced by eg weil, da, dass, obwohl, wenn, als, wahrend, wo,
nachdem, bevor etc

use of relative clauses introduced by der, die, das, mit dem, was etc

use of the conditional and subjunctive after e.g. wenn. E.g. Wenn ich viel Geld héatte, wirde ich
erster Klasse nach Australien fahren.

and, when considering use of longer sentences:

use of co-ordinating conjunctions: und, aber, oder, denn etc.

13
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Use of time frames/tenses

e The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include
‘references to two/three time frames’. If a candidate refers to three time frames, it may well be
through different tenses, but equally it could be through the present tense. E.g. Ich gehe einmal
im Monat ins Kino. (Present reference) Ich habe vor, morgen Abend ins Hallenbad zu gehen.
(Future reference) Ich spiele seit funf Jahren Ful3ball. (Past reference)

e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a
candidate can impress by showing that he/she can use a good range of tenses, thereby adding to
the range and complexity of language.

14
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

ambiguity

A problem with immediate communication caused by grammatical
inaccuracy or a contradiction (e.g. ‘l love it because it’s boring’).

appropriate

Language which is suitable for the requirements of the task.

coherent

Language which is easy to follow with a logical sequencing of ideas.
See fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as und, aber, weil, obwohl, used to create longer
sentences.

longer sentences

These may be complex, with more difficult subordinations such as
obwohl, als, wenn, bevor etc, or more simple through the use of
linking words such as und, aber, oder.

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

opinions A positive/negative verb or adjective used to give an opinion; or a
neutral adjective, such as ‘big’, preceded by something like ‘I think
that’. For example ‘I think that my bedroom is very small’.

secure Accurate.

structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of
the task, requiring informal or formal register.

time frames

The use of tenses, with or without time markers, which refer to past,
present or future events. A present tense may be a future or past time
frame, e.g. Ich gehe am Wochenende ins Kino (future time frame); Ich
lerne seit fiinf Jahren Deutsch (past time frame).

variety

Use of different verbs, nouns and adjectives which avoid a lot of
conspicuous repetition.

ambiguity

A problem with immediate communication caused by grammatical
inaccuracy or a contradiction (e.g. ‘I love it because it’s boring’).

appropriate

Language which is suitable for the requirements of the task.
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Part 2 — Marking guidance for June 2018 series

Question 01
For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.
[16 marks]

Content

Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | A reasonable response covering almost all aspects of the task.

Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes
N.B. The continuous form of a verb is NOT acceptable in this question.

Do NOT accept an opinion which is dependent on irrelevant material
There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level | Marks | Response

3 5-6 | A variety of appropriate vocabulary is used. Complex structures and
sentences are attempted. There are references to three time frames,
which are largely successful. Errors are mainly minor. Some more
serious errors may occur, particularly in complex structures and
sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

2 3-4 | Some variety of appropriate vocabulary is used. There may be some
attempt at complex structures and sentences. There are references to
at least two different time frames, although these may not always be
successful. There may be some major errors, and more frequent minor
errors, but overall the response is more accurate than inaccurate and
the intended meaning is usually clear. The style and register may not
always be appropriate.

1 1-2 | The range of vocabulary may be narrow, repetitive and/or inappropriate
to the needs of the task. Sentences are mainly short and simple or
may not be properly constructed. There may be frequent major and
minor errors. Little or no awareness of style and register.

0 0 The language produced does not meet the standard required for Level
1 at this tier.

Notes

(@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of
language. Apart from that, the Content mark does not limit the mark for Quality of
language.

General rule for this question:

¢ The use of an infinitive in place of a finite verb is acceptable for conveying a message. It would
not, however, count as a reference to a present/past/future event (i.e. no annotation of Pr/ P / F).
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Q01.1 Content

Bullet

Comments

Woas du in deiner Freizeit machst

This can cover anything and everything a
candidate does away from school

Was dein Lieblingshobby ist

The idea of ‘favourite’ needs to be included
unless the context makes that clear.

Was du letztes Wochenende gemacht
hast

If the response is plausible without a reference
to weekend or if there is no reference
specifically to last weekend it should still be
accepted.

Uber deine Plane fiir nachsten
Samstag

The use of a future reference using am rather
than nachsten should be accepted, as should
Wochenende rather than Samstag.

Q01.2 Content

Bullet

Comments

Etwas Uber deine Schule

This could include size, age, location, facilities
and teachers. It is a wide scope.

Welche Facher du gut/nicht gut findest

N.B. The / represents oder and not und.
Accept a reference to one subject only.

Was du gestern in der Schule gemacht
hast

Accept no reference to school if the information
is a plausible response.

Was du im nachsten Schuljahr machen
wirst

If the context makes it clear that is being
referred to there is no necessity for a reference
to next school year.

For both questions accept material which is fully or tangentially relevant.
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The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question | This is a possible response (indicative content):
01.1
Ich liebe allerlei Musik und gehe manchmal mit meinen Freunden zu einem
Konzert. Das ist leider sehr teuer, also kann ich nicht so oft hingehen.

Mein Lieblingshobby ist aber Sport und ich spiele zweimal in der Woche
Tennis. Das macht Spal3 und ist gut fur die Gesundheit.

Letztes Wochenende bin ich mit meiner Freundin einkaufen gegangen. Das
war gut, obwohl ich nur eine Zeitschrift gekauft habe. Am Abend habe ich
ferngesehen, denn ich liebe Casting—Shows!

N&achsten Samstag werde ich mit meiner Familie ins Kino gehen, um einen
neuen Krimi zu sehen. (90 Wdrter)
[16 marks]

or Question | This is a possible response (indicative content):
01.2
Ich besuche eine grofl3e Gesamtschule in Slough und ich lerne zehn Féacher.
Das Schulgebaude ist alt, aber die Klassenzimmer haben alle die neueste
Technik.

Ich hasse Mathe, denn sie ist schwierig und langweilig, aber Erdkunde ist
immer interessant und der Lehrer ist auch witzig. Mein Lieblingsfach ist
Englisch, weil ich immer gute Noten bekomme.

Gestern in der Englischstunde haben wir Macbeth gelesen. Ich finde das sehr
spannend. In der Pause habe ich meine Hausaufgaben gemacht.

N&chstes Jahr werde ich in der Schule bleiben. Ich mdchte Englisch, Deutsch
und Erdkunde weiterlernen und dann auf die Uni gehen. (90 Worter)

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met.
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]
Content
Level | Marks | Response

5 13-15 | An excellent response which is fully relevant and detailed, conveying a lot of
information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

4 10-12 | A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.

3 7-9 | A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.

2 4-6 | Areasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

1 1-3 | A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.
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Range of language

Level | Marks | Response
Very good variety of appropriate vocabulary and structures. More complex

4 10-12 . . : .
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

3 7.9 Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses. The style and
register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are

2 4-6 . i S
attempted, using appropriate linking words, often successfully. The style and
register may not always be appropriate.

1 1-3 Little variety of appropriate vocabulary. Structures are likely to be short and
simple. Little or no awareness of style and register.

0 0 The range of language produced does not meet the standard required for Level
1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy
Level | Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some major errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
is not always clear. There is only limited success with verb and tense
formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.
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General rule for this question:

e The use of an infinitive in place of a finite verb is acceptable for conveying a message. It would
not, however, count as a reference to a present/past/future event (i.e. no annotation of Pr/ P / F).

The following indicative content is an example of the response that students may give to this question.

It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question | This is a possible response (indicative content):
02.1
Die meisten Teenager haben Probleme, ich auch. Vor drei Monaten konnte
ich nicht richtig schlafen. Ich habe mir Sorgen gemacht, weil ich eine sehr
schlechte Note fir eine Klassenarbeit in Mathe bekommen habe und das ist
ein wichtiges Fach. Ich habe geglaubt, dass ich meine Eltern enttauscht hatte
und deshalb bin ich nicht eingeschlafen. Es ging eine Woche lang so, dann
habe ich die Arbeit mit meiner Mathelehrerin besprochen und sie hat mir alles
erklart. Ich hatte das zuerst machen sollen, da sie so sympathisch war. Wenn
man Probleme hat, ist es wichtig, sie mit jemandem zu besprechen, weil es
oft schwer ist, sie allein zu l6sen. In der Schule ist es ganz einfach, denn die
meisten Lehrer wollen uns helfen. Glucklicherweise kann ich auch fast alle
meine Probleme mit meinen Eltern besprechen. Ich wiirde sagen, dass man
das tun sollte, wenn es moglich ist. Gute Beziehungen innerhalb der Familie
helfen immer, Streit und Stress und deshalb Probleme zu vermeiden. (160
Worter)

[32 marks]

or Question | This is a possible response (indicative content):
02.2
Letzten Sommer habe ich zwei fantastische Wochen mit meiner Familie in
Sudfrankreich verbracht. Wir haben dieses Urlaubsziel gewahilt, weil das
Wetter da immer gut ist und weil es auch viel zu tun gibt. Wir sind dahin
geflogen und sobald wir angekommen sind, sind wir direkt zum Strand
gegangen, um im Meer zu schwimmen. Fast jeden Tag haben wir etwas
Interessantes getan, aber am besten war unser Ausflug nach Monte Carlo, da
ich viele berihmte Leute und ihre schénen Jachten gesehen habe. Ich habe
diesen Urlaub sehr genossen, aber ich wiirde auch meine eigene Region als
Touristenort empfehlen. Ich wohne in einer lebendigen Grol3stadt, wo immer
was los ist, und es gibt viele historische Gebaude. Es lohnt sich, den Dom zu
besichtigen, denn das Kunstwerk darin ist wunderschon. Nach einer kurzen
Fahrt von einer halben Stunde befindet man sich au3erhalb der Stadt und die
Landschaft ist zauberhaft. Hier kann man frische Luft einatmen und sich
entspannen. (155 Worter)

[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum
mark is 12. When awarding the marks the student’s response across the passage should be

considered as a whole.

[12 marks]

Conveying key messages

Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level | Marks | Response

6 6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 The language produced does not meet the standard required for Level 1 at this
tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Key messages

The translation is divided into 13 key messages (see below). As general rule, the wrong person or

wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick.

Meine Freunde/Freundinnen und ich

1 | My friends and |
2 | liketo help helfen gern
3 | old people alten/alten Leuten
4 | when we can.. wenn wir kénnen
We have no time now Wir haben jetzt keine Zeit
5 Jetzt must be included
Accept im Moment instead of jetzt
because we get a lot of weil wir viele Hausaufgaben bekommen.
6 | homework.
Last week | went shopping Letzte Woche bin ich....einkaufen
7 gegangen/ging ich...einkaufen
for my grandmother fur meine Gro3mutter
8 Accept Oma
g9 | when shewasiill als sie krank war
and she gave me some money. und sie hat mir (etwas) Geld gegeben/gab mir
10 (etwas) Geld.
11 | Iwill use it Ich werde es....benutzen
12 | for my holiday far meinen Urlaub
12 in Switzerland in der Schweiz.

Do not accept nach Schweiz

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The
total number of ticks awarded equates to a mark according to this table.

Total ticks Mark

13 6

11/12

8/9/10

5/6/7

3/4

1/2

O | N |W |~ O

0
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Indicative content
The following indicative content is an example of a response which would be awarded full marks.

Meine Freunde (Freundinnen) und ich helfen gern alten Leuten (Alten), wenn wir kdnnen. Wir haben jetzt
keine Zeit, weil wir viele Hausaufgaben kriegen/bekommen. Letzte Woche bin ich fir meine GrolBmutter
einkaufen gegangen (Letzte Woche ging ich fir meine Grolmutter einkaufen), als sie krank war und sie
hat mir (etwas) Geld gegeben. (und sie gab mir [etwas] Geld.) Ich werde es fir meinen Urlaub in der
Schweiz benutzen/gebrauchen.

Other reasonable alternative translations will also be accepted.
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